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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2011 

ELECTIVE COURSE : COMMERCE 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question No. 1 is Compulsory and attempt any three 
from remaining questions. 

1. 	Girish, an employee of a frim, furnished the 14 

following particulars for the year ended 31st 
march, 2010 : 

Rs. 

Basic Salary 	 1,44,000 

Dearness Allowance 	 28,800 

Bonus 	 12,000 

Own contribution to recognised 

provident fund 	 20,160 

Employees contribution to the 

provident fund 	 20,160 

Interest on prov. fund (not 

exceeding the prescribed rate) 	14,000 
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He was provided with a rent free accommodation 
at Kolkata for which the employer paid a rent of 
Rs.1,250 per month. He was allowed the use of 
one refrigerator and an air conditioner costing 
Rs. 8,000 and Rs. 12,000 respectively. Life 
Insurance premium of Rs. 12,000 was paid by the 
employer on Girish's insurance policy for 
Rs. 2,40,000. compute taxable income from Salary 
for Girish for the assessment year 2010 - 2011. 

2. Define annual value and state the deductions 4+8  
allowed from annual value in computing the 
taxable income from house property. 

3. (a) Explain the provision of the Income Tax Act, 6+6 
1961 regarding interest on tax-free 
commercial securities 

(b) Mr. B purchased a house in Delhi in 1980 
for Rs. 1,00,000. He added two rooms and 
a Verandah in the house at a cost of 
Rs. 30,000 in 1980 and two bath rooms at a 
cost of Rs. 50,000 in May 1994. He sold the 
house on 1' July, 2009 for Rs. 15,00,000. 

Ascertains the capital gain/loss if the fair 
market value of the house on 1st April, 1981 
was Rs. 2,00,000. The cost of inflation index 
in 1981-82, 1994-95 and 2009-10 was 
100,259 and 632 respectively. 
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4. 	(a) Explain the provisions of Income Tax Act, 	6+6 
1961 regarding exemption of income of 

political parties. 

(b) Mr. Ramesh is a person with severe 

disability. He had the following incomes 

and payments during the year 2009-10 to : 

Rs. 

Salary Income (taxable amount) 1,80,000 

Income from House Property 	40,000 

(taxable amount) 

Interest Income 	 4,000 

Dividends from domestic company 2,000 

Dividends from a coop. society 	3,000 

His cont. to Recog. P.F. 	 10,000 

He paid medical insurance 

premia during the prey. Yr. as under : 

(i) on the health of his mother 	6,000 

(ii) on the healths of his mother-

in-law (who is dependent 

on him) 	 3,000 

and compute his total income. 

	

5. 	(a) State the incomes which are treated as 	6+6 
deemed to arise or accrue in India. 

(b) Explain the rules regarding deduction from 

gross total income in respect of Royalty 

income on books and patents. 
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6. 	Write short notes on any two of the following : 6+6 
(a) Profits in lieu of Salary. 
(b) Previous year. 
(c) Consequences of delay in filing of income 

tax returns. 

(d) Set off of losses. 

7. 	Define the following terms. 

(a) Person 

(b) Assessee 

(c) Permanent Account Number (PAN) 

4, 4, 4 
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5. 	(a) ITTM -14 at -47 zfr # 	 zi 	i airi1 (deemed to 6+6 
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